Step by Step Sanskrit Learning Programme — Month 19

Lesson 71.

qid aoaH! 9d: 831 9

The Locative and Genitive Absolutes.

"Let me sing you a song while you try and fall asleep."

"Even if you have been naughty, I love you."

How often would we have heard those beautiful words from the person we
loved most as children?

So far we've used the words T / AGT and T / T to express these

kinds of ideas. Here's another way to do this....
Whenever we wish to put two different ideas or actions together in one
sentence (wherein one action is performed with reference to the other)

we use the Tfd T or the Td: TSI |

Whereas the latter is used only when one wishes to show contempt or
disregard, the former is used in both, a general sentence conveying
contempt and a simple straightforward idea. There are a few points that
we must keep in mind...

1. That part of the sentence which says...." While / when such and
such a thing was happening / had happened / will happen ... "MUST"
contain a participle. The participle and the noun it qualifies must

both be in either the TS or the TSI v Tfd: |

When the sun shone, the birds sang. Fﬁf ‘Jliﬁlﬁl?l , T SPTHE_ |

haY aON o
ST Tldd, TRAN: TR |
Kishore laughed when the mango fell.

F1eh: HWT: Uas: ol ol Ag: Uamaanar: |

TH-THHY U hieh: didh: [Uah: fUep: 1|
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hlh: The crow DUT: (is) black fUah: The cuckoo DU (is) black
I () what is 9G: the difference TUEHHTHAT: between the

cuckoo and the crow?

TETEEI UM When Spring is obtained ( When it is Spring, the
difference becomes apparent) Which: d1dh: {Uah: U that the
crow is a crow and the cuckoo, a cuckoo.

2. That participle and noun which will be placed in the HH or the

&8t feRTfea: indicates the time that the second action is done. In
other words, the second action is done with reference to the
action placed in the Tl or the T&ST fTvfea: | (When the child
cried, the mother came running).

AT Hivad AT HEwl RT3, |

3. The participle can be either past (FTd9d, ¥Td), present (FT=&d,
ITFGHTA) or the potential (YTd<d, THAME, ), depending on the

tense you wish to convey.

4. All the examples in sentences 1 and 2 have been with m—ﬂ'@ S.
Naturally, I can use the participle of an W-W@ in the past and
the present tenses in the FAR a4 | Naturally, the %l and

the participle will be in the T or the TE&1 fTfa: |

5. In the case of HEEH%B-UI@ s, you can use two different

participles..... one in the active voice and the other in the passive.
For example,
"While the boy ate a modak, a mouse came in the classroom." I
could translate this in two ways:

qMF AiH TIeadid (Al of @IEAa) Th: Juh: a9 FTiaard. |
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N NN o [y o
dl5ehd Hiqeh Wllqd Yeh: HYh: 931 HIERAG |

The %8 and the participle will be in T or the T&ST fvfea: if
you use the dd Ycqd |
The %l and the participle will be in HCqH or the TE&I [T¥laa: if

you use the #ddd Hcdd |

6. Since they are participles, they will work as adjectives...
(While he ate a modak / while a modak was being eaten by him:

o haN . o o NN N [aNiaN
AEH HiGh Qligddld / d Higeh Hiad |
While she eats two modaks / while two modaks were being eaten by
her

s NN ~ ~ ~

Il High WG / a1 HIgHIl: THEE!: |
When many modaks will / should be eaten by it.
%F[ N N o / ﬂ\ / ~ |

The participle agrees with the noun in gender and number.

7. The participle here works as the verb for one part of the
sentence. Either a participle or an actual verb does the same job
for the rest of the sentence.

N s
dd Higsh Qliqd |1 dd: T / SPT=3d_ | While a modak was being

eaten by him, she went from there.

8. The subjects in the two ideas / actions you wish to talk about
MUST not be the same. In the example in sentence 1, one subject
is the sun, the second, the birds.

9. If the subjects were the same, the |id G or the Ha: El"?cﬁ(;

can't be used.
Rama, after he had taken Lanka, returned to Ayodhya..... Here the
subject ‘Rama’ is the same in both the parts of the sentence. I't
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10.

11.

Note:
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would therefore be translated as &g ‘lélcal, T\ I

YcAnT=sd / TWETA: |
Rama, after the monkeys had taken Lanka, returned to Ayodhya.
With the first subject being 'Rama’ and the second being

'monkeys’ the &fd HCqH can be very artistically used. HUY Fgi

TEIqacg TH: SRl FeqvT=ad / FReTd: |

A look at how the Td: §S31 is used.

The thieves stole the money even as the policeman was guarding
the house.

TEHE T {ordad: I O STNE |
The thieves stole the money even as the house was being guarded
by the policeman.

TR e (deq TN I 3R |

A look at how the three different participles are used:

While the boy watched T.V, the girl read a book.
T G AN ATfesh Tt qfdaaat |
While T.V. was being watched by the boy, the girl read a book.
N (¥ haN o P o
el GG g2 Mol el ol |
While Vikramaditya is looking after the kingdom, the enemy cannot
do anything.
farepTieca U Tt Rua: fRafy wd 9 zeated |
If the teacher should enter, please sit quietly.

IFEATIE TS | FYAT TN, SR |

A) Use the @d: T3] if you wish to suggest the following:

1.

In spite of
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2. Notwithstanding
3. For all (For all / notwithstanding / in spite of the shopkeeper's

looking on, the rat steals the ladoo. AT T2 HY%: IZI\'IQEE

haN o
TR 1)

B) Use the |id Gl if you wish to suggest the following:

1. When
2. While
3. Since

(Since death is certain, why fear? H?a\T fefare v TR ?)

C) Use the @i Gl with qd or HA or with A with or without I

attached to the participle if you wish to suggest the following:

1. Assoonas

2. No sooner-than

3. Scarcely when

4. The moment that

(As soon as / no sooner / scarcely when / the moment that..... he
entered, the people cheered.

IS T qRH_ SHT: STASTIRRI, 3T5a. 1)

Worksheets

A) Translate...... Please try your hand at both the active and passive
participles in the same sentence whenever it is warranted.

Haq: ¥

1. In spite of your looking on, the cat will definitely steal the milk
from the vessel.

2.  The people talked loudly, notwithstanding that the Guru was sitting
on the dais in the assembly hall.

3. Forall her scolding, he does not study.

4. In spite of the child crying with hunger, the mother did not give it
milk.

5.  Men commit misdeeds, though Gods see them.
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6. While the parents were sleeping, Siddharth ran away from the

palace.

Even if it should rain, the crops may not grow.

Inspite of the gardener protecting the garden, the old ladies took

away the flowers.

9.  The thieves stole the car, notwithstanding the policemen walking on
the road.

10. Inspite of the Guru's advice, the disciples were lazy.

11.  Inspite of my looking on, the milk boiled over and fell onto the
kitchen platform.

© N

gfet deaHt
1.  The moment the food is ready, come and tell me.
When Rama had gone to the forest, Dasharatha breathed his last.
3. When Rama went in search of the golden deer, Ravana kidnapped
Sita.
4. No sooner was an arrow discharged, than the hunter heard
someone crying.
5. When the Sun rises in the East, the whole world is filled with light.
6.  When man is besieged by calamities, even friends become enemies.
7. As soon as the lecture is over, the students will run out of the
school.
8.  Who can trouble us, while God protects us?

9.  The moment that the child cries, the mother picks it up.

10. Scarcely had the bus started to move, than there was a loud
explosion.

11.  While the students were thus laughing, the teacher walked into the
class.

B)'\Read and understand:

afd
1. &0 9UY AcdaE faRied | (2 RQ)
= ~ =
2. Y Y FRAN TG 39 T2AA | (SATHA)
~ N ~ =~ =
3. gf*gdy YAy ATCHT AR 59 §oad | (3TTcHar)
4, VY qFICH G: F TR | (¢ R0)
5, gy Ty €Y Y FAAMY , I ¢ I T I T ARG | (%
¢, %)
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6. IFEN: Tl TrEHMY STARYAY, ITG: , T SGH T/ | (2 R,
)

7. Errfs'?j foiafa, raa: JE SRR | (R 20, )

8. Y forsala, Ha: ad vEH?

9. %S i A MY S : Tfed | (3 RQ)

10. &Y WG A0 S JUIEEL: | (2 92)

11, I AR F: FEAN:? (¥ IEw<H)

12, T T F: FEEER:? (I TEH)

13, 801 focd %: IRAN: 2 (VT TNiewaH)

14. 1 dcd F: HEN:? (¥ M)

15, FHIHY S~y AFANT - H T: T | (2 89)

16. HEIYY cdi €gacg, A Twadi: oi dteed | (¥ R)

17. 79 AAFRY FIIA IO S Fd, I 0T [G2Ted | (8 R9)

1s.ar'iivg§\:l”lwg, Wﬁgf&aﬂﬁﬁﬁ | (FEGTR)

19, TeeRIER AT WA, & a3 qq1:7

20, Ty 7 AT IeIT:, GEY Ty 7 TGET | (R 48)
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Lesson 72.
Causal verbs.

haN C o

SUTTRIh [h AT

Mohan cooked the rice.
Ramesh got the rice cooked by Mohan.

In both the cases, the person doing the action of cooking is Mohan. But in

the first case, he becomes the subject, the %l and in the second

Ramesh is the subject providing inspiration to Mohan to cook the rice.
e S T |

TRT: WEAH g qrera |

In the second sentence, the T'an’\‘;quT[ has been added to the 9lg: |
With that addition, the verb now changes its meaning. From an action

haN L N
which is being done by someone, it now becomes a ¥UTII[=HI1, an action

which someone makes another (or himself) do. Please note that the actual
doer of the action needn't be different.

Tt must be observed that whenever the SRUTIF - ¥ld s are made use of,

the actual Fdl is always in the a?ihl feRTRr: and the object remains in
o <

the f&didl as compared to the root sentence where the %dl is in the

ST [Tl and the object in the Tl | Remember to match the

verb with the ST feRTEA: at all times.

-
¥cq: &l 0d | ... the root sentence

X ~ ¢ ~ x °
gqdged: ¥[cdd <l hNI(d | IO

~ ) ~ =~ o
Sl Fcdd R hIl«d | SOMR-%
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When is the 0T 99 used?

1.

2.

Whenever you wish to add the SRUT 10 a Hld, the ﬁﬂﬂ?ﬂ'ﬂ is

added.

Sometimes, to convert an S ERE Yld toa SERaC Hld, the fUTsted

is made use of.

QT STEferal JUIRT: ISGFTT IS | Parvati, with her austerities
which she performs day and night, emaciates her (own) body. Here,
TSYAM is the TSTed SANT of the STHHE W] ..... TS |

How are these forms recognized?

1.

Between the 9Tg and the 9cdd, the U9 (31) &M is added and a
0T of the 8% TV of the SUHI (except for 31) is made. <A -

AN, § - HRA |

Generally STHNIA 9Td s (and those ending in T, ¥, 3 which
become SHThNId in the EIT'JTTQJI%F) have an extra 9 attached after
the & | For example: & - E9EMd, I - IR, &1 - EAGE |
InfS, @1, ™ (Elé\Tqﬁ\T), qt e, &, =l too an extra 9_is attached and
the TR becomes an &I | Gﬂ‘T\‘:H%I, HTW]%I, Q’IW]%I, I |
Except for STH, &®H, TH, IMH, IH_ in the other 3TH ending ¥1g s,
?{'I\ﬁ of the 3 of the SUHI does not take place. For example: 3TH_
- IHAT but FH_- A |

[UTSTed forms are like the |Td s in the JUGITOT |

. fOst=d forms are generally T |

Here are examples 10T wise:

1.

¥] YAl becomes ¥EETd- d |
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2. ?ﬂ{?ﬂ'l% becomes 3113'\’11%[- ‘?\l |
3. § ﬂé'\l'l%f becomes ETEAM- d |
4, ﬁqa’laﬁ%l becomes éam’%r- Gl
5. § ﬁFI\T'l%T becomes AEEd- d |

N o

6. @1@% becomes dlqHld- Gl
7. F‘{E‘]T@ becomes qeEfd- 9 |
8. HFI\HFTT% becomes dFEld- d |
9. Tl SHIUMI becomes FIFAM- o |

10. ﬂ{%ﬂtﬂ% becomes TRA- d |
And a few more that are often used :
1. O - THEM |

2. 9 +§ - SAEd |

3. ST + T - AN |

4, M - 9EA / EEd |

5. 9F] - AFRANT |

6. TI.- TN / AT |

7. & - TEdfd / Quafd |

8. a1 (SIS - Al / Tl |
9. & - ITa9id |

10. T (STE) - 9 |

11. & (SST) - Ul |

12, ST - A |
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Generally, whenever you use the fUTst=d forms, the person doing the

action falls into the FF?PZIT CLIESH

For example:

. (TR Y ) - 36 TR 3N A |

. (W AR &fed) - diar T AR St |

. (9 O FE) - Aol GO O ot |

. (T e HUT) - 15 U= Feas w9 |

5. (GHT: TH g 4fd) - T GHT TH I+ AEEid |

—_

N

w

N

< o
There are 12 ¥Tgs in which the &dl of the action is placed in the et
T | Besides them, € and % are used in both, the f&d™T and the
1 |

1. T - (qIUSET: 9 ITeBTed) - HIET: qUS a9 TRl |

2. T2 - (T Teg TR - AT 91 I, T2 |

3. S0 - (J9: T YONT) - 1 99 7T a9 |

4, YA - (SEEN I ARI) - T SRRt I SeREfd |
5. IR - (T J&TH_ TNE() - FOT: I T |

6. TN - (ATfh: TTEWL Scalid) - |: AR TG, Scaidid |
7. TR - (e YISt TR - ¥ ferded ¥ T |

8. HIftd - (I1%: AR A - U1 a1 R ot |

9. T - (T: A AFI) - T&: d RS o |

10. 9%_S - (ST T S) - T D15 T ST |
11, 9 - (RiY: g Yaid) - Jran =Ry god aEaid |
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12, 37 - (except for 31q, €Iq, ¥1& where the TIT-dl is in the
eftan fefe - A Rt foreer @A, steafd ar 1) (g
I Yad) - TR FUR e Wi |

= § (3 VIR T &) G: e / ¥ VIR O 8RAtd | (for A,
TE_ the TAI-Fdl is only in the I TR | G: I ¥R o
Gl / TRl v |

» F - (AT FE FA() - T A / A6 FE HRAC |

= oY, HTY, 1%|?'F‘3L Y and G2 - the TIST- il is only in the
fgciran fpTfea | 3 T |ed Seqafa |

Do remember that these forms are now completely new verbs and can be

conjugated in the 10 BN s |

Worksheets
Translate:
1. The sun makes the lotuses bloom.
2. Vishwamitra got Rama and Janak's daughter, Sita, married.
3. I will get the tailor to stitch me some clothes.
4. The servant bathes his master who is troubled by the heat,
with cold water.

5. The villagers make the devotee tell them a story.
6. The singing-teacher got the girls to start singing.
7. Piyush got the servant to carry his books to school.
8. Radha fed Seeta some cold water.
9. Mother made Kumuda enter the temple.
10. He showed me his house.

Lesson 73.

Fearsrm

Once upon a time there was a forest. A peaceful dense forest with not a
man treading its hallowed precincts. One day a hunter chanced upon this
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natural beauty and proceeded to build a hut on its very edge. "I must let
my family know of this wonder. My cousins too would like a home here."
Alas, the hunter had converted the forest into a village!

%: O ST q: Ui ETEET TR |
The word TN is a FTGIK‘TH\ | Whenever you wish to bring into
A, into existence, something that was hitherto not present in an

object, the ST is available for your use.

Let's look at a few more examples before I explain to you how you can
form these words.

1. H 30E Feol GG HESIHRUIT |
'Fair and Lovely' makes one's face fair.
. (y o hnY o
2. OId: 3 S, ATlesehT qEdT: Hd JEITOT ST |

To lessen the unhappiness her mother was feeling, the girl bought her
flowers.

3. HIg: g FEFHcd, ST FHICFIR] SFTad_ |
Having lessened her mother's unhappiness, the girl went to the
playground.

4. TIEE 3 FEde FaTRE: @R |

In the film 'Guide’, Dev Anand became a sadhu.

5. T T231 o FRSIHAT |

He expressed his wish.

6. Td FACT: ThHATATT Iegaed |

All the pigeons flew as one.

How about just a few more words?
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GOIFI, TR, YFSRIA:, TRSRIAT, AT IhgH, Ui,
FEIHOT_ |

So what's the common thread? Obviously the following...
1. The first part of the words ALL seem to end in either Tord |

2. The endings of the words can be ALL forms of the % or the ¥

g |

Let's get into the basics now....

1. The beginnings of the words can be either nouns () or
adjectives (ﬁflﬂUT). For example, either 3[& (H) or YIS (I%W\TE[UT).

2. Those nouns or adjectives are converted info either an Soran
depending on whether the original word ended inan 3, loran3 |
T + F = TENFAS | TFST + ] = TRSERAT | @ + ¥ = TG |

3. There can never be a cdl=d word, only a @d¢«d, simply because a
prefix has been added.

@%'E-T and not @‘-]\c—cﬂ |

4. Though all forms of the % or the ¥] ¥ld: can be used, while forming
the past tense, the addition of the 31 before the Hid: can pose a
problem. (Pose?? IT DOES!I ) Circumvent this by using the &d
Y9 | Then you must remember that with the % ¥Id: which is
qEHE, you will need to use the FHMT construction. This is not

applicable to the ¥[ ¥Ild:, simply because it is an W%E—'él'lﬁt |
For example:

YA gHFe HIRIT |

AR FUhRSF: FISHA: | Gotit?
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Practice time!

Worksheets

Translate the following. Convert the bold type into the %alacr{ I

1.

2.

Tarakasura treats (makes) the three worlds as grass. qUI

By the boon received from Brahma, he has become arrogant. ™
The Devas and the people become unhappy. 3@

They express their unhappiness to Brahma. k<

Brahma explains his idea. €94t

6. Parvati, having become Shiva's servant, serves Him with devotion.

e

7. Shiva, having made Madana into ash, sits in meditation. ¥I&H

10.

11.

12.

13.
14.

Seeing her husband in such a state, Rati becomes very uneasy.
T
The Devas go to Shiva and then do pradakshina. ST

"Tarakasura having become an enemy, troubles us," they say.%ﬁ +
!

" To make us happy, forgive Madana and make Parvati a bride."
q@ /a9

Shiva's anger cools down. QIR

He accepts Parvati. 31§

" Madana will become Pradyuma and Rati too will become happy."
says Shiva. 9gH / &
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Try converting the same present-tense sentences into the past for
further practice. Remember to use the passive construction.

*kkkx

Level 2 - Month 19 Lessons 71 - 74. 500/504
www.chitrapurmath.net © Shri Chitrapur Math 2002-2013




Step by Step Sanskrit Learning Programme — Month 19

Lesson 74.
Nominal verbs

AHITg:

Have we often not heard someone say, "Look at that nut! Does he
think himself to be Amitabh Bachhan?" Wouldn't it be great to say
that in the Sanskrit?

That's when the AR comes to the rescue.

It is quite similar to the =T and you will find that you can often
substitute one form for the other. Viva la options!!
The YT doesn't make use of the & or the ¥ 9Td | It uses the

root noun or adjective and converts it into a new verb altogether by

the addition of a I at the end of the noun / adjective and the 9cdd |

There are numerous kinds of AT but we shall concentrate on only

two oft used forms..... examples...
A) TESEd

B) TG AT
The first is an A.P form ..the GW%\IW I
The second is a P.P form ..the CITF"\\NQKCIH\ | In this case, if the

original noun ends in an 31, then it is necessarily converted into ané |

Though a completely new verb form has been created, generally only
the present tense form is seen used.

A) The first option is used when you want to say...

1. Someone believes himself to be / behaves like a particular thing.
Here the noun forms are used.

For example:

By adorning himself with a peacock feather, the crow thinks that he

is a peacock. AU=S ISeHd: Fih: AIUAA |

2. The adjectives add a new dimension to something.
For example:

Cool coals blackens the hand.
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3 STEN: X FOE |

B) The second option, if used without an object, is used when you wish
to say someone desires something.

For example:

The farmer wishes for a palace.

H: TEEE |
The second option, if used with an object, is used when someone

considers somebody something.
The teacher treats his shishya as his own son.

eI R R |
Please note that a sentence like the one above requires an object.

If T had just said 3T<AT9%: G |, T would have meant that the

teacher desires a son. Since the AHIIg: itself has an 2 at the end of

the noun, it would be difficult indeed to figure out if the teacher
wanted a son or a daughter. The solution is simple. Read the sentence
in context with the passage that you picked it from; and not in
isolation.

I could also say that one desires a son by using %4 in the middle of

my word. For example: Wﬁl |
Now let me add another problem to your lives:

The addition of 9 is not a hard and fast rule. There are words like

W which are also AMHYId s, which would mean that someone is like
Krishna. Whenever you come across a word which is a combination of a
noun/adjective with a verb ending, it might be a ATHYTG: | Read the
sentence and then try figure out what the word might mean.

There are several rules that define how a THYId: can be created. As

and when my understanding of the subject grows, I'll pass that unto
you... till then I'm afraid, this lesson will have to suffice.

Sometimes I dare to wonder if the Harappan and Mohenjodaro script
may be easier to decipher.
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Let's look at a few sentences to see how these forms are used and as
homework, just try and translate them into English. These sentences
may be popular subhashitas, from our classics or are standard
sentences often used by teachers to teach this concept...

1. TERERNEE: Y FE: 7 7T6Sdd |

o NN ~

2. feREquE 3 wuelsiy gamEa |

3. FOT: AFAE |

4. I TR MY Aid: FSEd |

5. fhgX: TEMAM |

6. AT G: I FRAT: @8 FoEEd |

7. ¥ fg=, Foara g o |

8. IRl Afderi FEEfa |

9. TETHAGEHE: Tooil: 9 FEIY A=A |
10. 3@ @ H 8T |

11, A SNT: IOTEd goiqgd g oT: aeEed |
12, Fferad fReanfe Tt Tt damed |

13, 7 R |

14, 35Ty FrgaE: GUTART g o |

o

15, ATSHT T |

16, FFYUIGET: Teg A FUM Teg oN: T ATE |
17, ST ST S 99 A SdEd |

18. g1 A& el FbgEed |

19. & TN STl Ted TEd IO FEUEd |

20, 9T 3ge: FAEd |

21, g:Race Freg |at: & mmEed |
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Step by Step Sanskrit Learning Programme — Month 19

22 IMATed HETEy: 9w 4 fANEd |

23 g ST A it |

24 7 3T Hi ToHSAld Sid g TFEI_ |

25 3TN S 7 quedied |

This should be sufficient practice.
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